
     

HEAVY DUTY SLIDING BARN DOOR 
INSTRUCTION MANUAL

Instructions for BHR023 Mounting Kit	  1300 474 246   sales@richmondau.com   www.richmondau.com

HANGING 
ROLLER NOT 
INCLUDED 
IN KIT
*SOLD SEPARATELY

x2 REQUIRED

75mm (BHR020)

90mm (BHR021)

105mm (BHR022)

(A) 2m Steel Rail

(B) Steel End Guides
(C) Wall Mount Bracket

(E) Floor Mount Roller

(F) M10 x 25 Set 
Screws

(G) M10
Nyloc Nut

(H) M10 Flat 
Washer

(D) Bottom Guide 
Roller Bracket

(I) M6 x 25 
Countersunk Screws

NOT INCLUDED:  Fasteners for attaching 
rollers and guides to door/wall 

Mark holes on the wall to fit the mounting brackets. 
Allow enough height for the door and the floor track.

Measure and trim the bottom guide roller bracket to 
suit the door.

Fasten the bottom guide roller bracket to the underside 
of the door using screws/bolts (not provided). 

Mark holes in the door and fix the hanging roller 
brackets using appropriate screws/bolts (not provided).

Fix the 4 x mounting brackets to the wall with 
appropriate screws/dynabolts (not provided).

Bolt the rail and rail end guides to the mounting brackets 
using the M10 screws, washers and nyloc nuts provided.

KIT CONTENTS

1

4

2

5

3

6

•	 1x  2m Steel Rail  (A)

•	 2x  Steel End Guides (B)

•	 4x  Wall Mount Bracket (C)

•	 1x  Bottom Guide Roller Bracket (D)

•	 1x  Floor Mount Roller (E)

•	 8x  M10x25 Set Screws (F)

•	 8x  M10 Nyloc Nut (G)

•	 8x  M10 Flat Washers (H)

•	 2x  M6x25 countersunk screws (I)



HEAVY DUTY SLIDING BARN DOOR 
INSTRUCTION MANUAL

Instructions for BHR023 Mounting Kit	  1300 474 246   sales@richmondau.com   www.richmondau.com

7 8

Lower the adjustable holding pins and lift the hanging rollers onto the rail, then raise 
the holding pins so that the roller cannot escape the rail. Fasten the floor mounted roller to the floor, ensuring the door is level.

HANGING 
ROLLERS SOLD
SEPARATELY


